ADO#gEt R ERTIE)

SHTE6A1BIRAE
BTH% Hit =i B&Et HEE
JIE Hh X /NG 1,032 1,076 2,108 973
I 0 0 0 0
JNE—TH 298 303 601 285
JNBE=TH 293 267 560 272
JNE=TH 220 228 448 209
g™ T B 200 225 425 165
HEEMA 21 53 74 42
R/ X /e 1,804 1,895 3,699 1,913
R/t 10 47 57 57
H/##—TH 346 377 723 370
H/#8=TH 496 489 985 499
H/#=TH 557 560 1,117 542
H/##HETH 395 422 817 445
P X /NET 196 214 410 231
H 196 214 410 231
HEE A Hh X /NVET 4,197 4,363 8,560 4,186
#EAE5—TH 1,142 1,012 2,154 1,140
#WEAE_-TH 1,410 1,507 2,917 1,331
#WEAE=TH 1,368 1,523 2,891 1,408
#EASMNTH 277 321 598 307
SHT Hh X /NET 2,547 2,390 4,937 2,685
XHET—TH 1,125 1,041 2,166 1,198
XET-TH 1,422 1,349 2,771 1,487
XET=TH 0 0 0 0
ko B R/ 3,246 3,009 6,255 3,132
&y E—TBH 643 614 1,257 658
¥ByE=TH 791 797 1,588 757
#rE=TH 382 349 731 369
HoyEMTHB 637 547 1,184 577
sy ERTH 793 702 1,495 771
ESNE = 475 459 934 454
EIN—TH 103 119 222 104
EJN=-TH 372 340 712 350




ADO#gEt R ERTIE)

SHTE6A1BIRAE

BITH% Hit =i B&Et HEE
ETREMR/NE 2,036 2,022 4,058 2,204
EXRFE—TH 1,084 1,097 2,181 1,118
EXRF=-TH 925 890 1,815 1,062
EXRFE=TH 27 35 62 24
FEH X /NG 1,633 1,609 3,242 1,624
FE—TH 747 737 1,484 807
PE-TH 275 293 568 277
PE=TH 611 579 1,190 540
Pt X /NET 1,874 1,892 3,766 1,721
Fh—TH 412 433 845 395
FHR=-TH 633 603 1,236 572
FH=TH 544 566 1,110 515
PHEmTH 285 290 575 239
PImEMR /NG 2,148 2,115 4,263 1,892
FmxE—TH 660 638 1,298 641
FMEZTH 510 532 1,042 478
FME=TH 533 505 1,038 403
PmEMTH 445 440 885 370
P X /NGt 1,473 1,317 2,790 1,212
FE—TH 701 609 1,310 583
FE_TH 381 342 723 328
FE=TH 391 366 757 301
WERTHE X /M ET 1,417 1,387 2,804 1,275
WERT—TH 56 44 100 48
MERTZTH 983 958 1,941 860
NER=TH 378 385 763 367
IMEE X /T 3,225 2,945 6,170 3,389
IMEE—TEH 468 415 883 535
IMEEZTH 796 653 1,449 877
IMEE=TH 694 647 1,341 691
IMEETTH 448 434 882 463
IMEERTH 819 796 1,615 823

=&t 27,303 26,693 53,996 26,891




